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48 | sa | es | 78| s |om |wa|us|ln2a]l 18] 28] 38
b5z whr | BAR 0 0 0 0 0 0 0 0 0 0 10 10
MR <T | pug 0 0 0 0 0 0 0 0 0 0 10 10
hs FAE 1,544 1,788] 1,543 929 ot8] 1,004 1,670 1,367 1201 1a13] 1,277 14,753
mHE 1,544 1,788| 1,543 929 o18| 1,004 1,670 1,367 1201 1413 1,277 14,753
_ SAE 1,225 2179|1148 1353 oso| 1.076] 1,231 1132  1.228] 1,250 1,440 14, 211
= i mHE 1,025 2,179 1148 1,353 oso| 1.076] 1,231 1132 1228|1250 1,440 14, 211
2 |y SAE 3563 3700 3170 3,362] 27200 2,805 3169 3375 3072 2508 2 056 33,505
o mHE 3563 3700 3170 3,362] 27200 2,805 3169 3375 3072 2508 2 056 33,505
. lpas SAE 1,080 1,413 1142 v am2|  vos6|  1524]  1702] 1407 1,203 021 990 14, 200
mHE 1,08 1,413 1,142 1.472|  1.256|  1.524]  1.702] 1,407 1,203 021 990 14, 200
T SAE 1.808] 2,827 2532 3022 2480 260 2301 2602 2807 2402 1 08 27,680
BhtA S 1.808| 2,827 2532 3022 2480| 2660 230 2602 2807 2402 1, 08 27,680
. SAE 2881 3027 2865| 3453 2670 2387 3538 2686 2046 303 2 476 31,968
THRERN s 2881 3027 2865| 3453 2670 2387 3538 2686 2946 303 2 476 31,968
. SAE 0 0 0 0 0 0 0 0 0 0 0 0
mHE 0 0 0 0 0 0 0 0 0 0 0 0
. gAg | 12191 1503 12400 13501 10,003 11,52 13,710 12,569 12,5471 11,610 10,238 of 136,417
& %

msg | 12,101 15,033 12,400] 13,591| 10,993 11,506 13,710 12,560| 12,547] 11.619] 10, 238 of 136,417




